b Undervisningsplan b Undervisningsplan b Undervisningsplan b Undervisningsplan b Undervisningsplan

1-gangen 2-gangen 3-gangen "I-gangen S-gangen

0 -1 =0 0 -2 =0 0 -3 =0 0 - 4 =0 0 - 5 =0
T -1 =1 1T -2 = 2 T« 3 =3 T -84 =19 1T <5 =5
2 -1 =2 2 - 21 = 4 2 -3 =6 2 - 4§ = 38 2 -5 =1
3 -1 =3 3 -2 =6 3 -3 =9 3 -4 =1 3 -5 =15
i - 1 = 4 y - 2 = 8 y - 3 =1 y - 4 = 16 y - 5 =2
5«1 =5 5 -2 =10 5 « 3 =B 5 - § =2 5 <« 5 = )5
6 - 1 = 6 6 - 2 = 1 6 - 3 = 18 6 - 4 = N 6 - 5 = 30
T -1 =1 T -2 =N T -3 =1 T -4 = 28 T 5 =13
§ -1 =8 8 -2 =16 8 - 3 =N 8 - 41 = 2 8 - 5 = H0
9 -1 =9 9 - 2 = 1 9 - 3 =1 9 - 4 = 36 9 - 5 =15
0 -1 =12 0 -2 =2 0 - 3 =130 0 - 4 = 40 0 - 5 =150

b Undervisningsplan b Undervisningsplan b Undervisningsplan b Undervisningsplan b Undervisningsplan

6-gangen 7—gangen 8-gangen g-gangen 10-gangen

0 - 6 =0 0 -7 =0 0 - 8 =10 0 -9 =0 0 - 10 = 0
1T - 6 = 6 T -1 =1 T - 8 = 8 T -9 =9 T« 10 = 10
2 - 6 = 1 2 -1 =N 2 - 8 =1 2 -9 =1 2 - 10 = 2
3 -6 = 1 3 -1 =1 3 -8 =N 3 -9 =7 3 - 10 = 30
y - 6 = N y - 71 = 28 f - 8 = 2 f - 9 = 36 y - 10 = 140
5 ¢« 6 =130 5 « 1 = 3% 5 < 8 =140 5 - 9 = 15 5 - 10 = 50
6 - 6 = 36 6 - 1 = 1 6 - 8 = 148 6 - 9 = M 6 - 10 = 60
T - 6 = 1 T -1 =19 T - 8 = 56 T - 9 = 63 T - 10 =10
8 - 6 = 148 8 1 = 56 8 - 8 = o4 8 - 9 =1 8 - 10 = 80
9 - 6 = N 9 - 1 = 6 9 - 8 =N 9 - 9 = 8 9 - 10 = 9
0 - 6 = 60 0 -7 =10 0 - 8 = 80 0 - 9 =90 [0 - 110 = 100
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